A MR

BE: NEWRES(LUTIET/ VLS - W)
Sl KA SBE S GRS
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
NI 2t 667,873 672,566 24,693
stz (Lo /ALy - WEXH) 518,893 512,754 6,139
LA RUE 268,312 261,659 6,653
SH RDES 233,431 226,249 7,182
101 @124 H| 5,022 4,795 227
04 JItH22 XS E 5,022 4,795 227
OF - SEAMN HANXA=Hel 5,022
—Jl2s 36,640 » 1H = 110 = 13 4,031
—F5x=E 36,640 » 1H = 22 * 13] 807
— A X0IAIE=E
36,6402 » 1H * 52 « 13| 184
201 get2dd| 150,319 147,954 2,365
01 A2 2 2ldl 40,269 31,410 8,859
OZMNMERLDXAN RO 8,900
—{DE GRIXNM(HSEHN L SEHGAM)
80,000& * 508fA 4,000
—==AZ2 RN (SEHAN & FHEAM)
70,000& * 508fA 3,500
—8JI2 SSYoA 1XA
70,0003 * 208tA 1,400
OdJlz SEHINER 28+
60,000& * 15004 + 13l 900
OSEUHHANER E2HZE A=
10,0003 * 20 = ZJHA * 13| 400
ONgMEaE 50,000& * 30 1,500
ONLHYS MRS HT 7Y
80,000 * 45 = 53 1,600
Oltze228 ditdtold 3,000& » 200% 600
O2MH=0I B4 35,000& * 50= 1,750
OFSHE Zed =4t 700,000& * 3CH 2,100
OFMEHAER HEX (AMMEZE)
50,000& * 50&8tA 2,500
OLXNAM eIfE NEZHI 35 L 10,019
—&EUl 553,000& * 8K 4,424
—-c4 1,937,000& * 104 1,937
—RIAEEH BE 50,000& * 3K 150
—OIeIxtA 560,000 * 1K 560
—Z2[XA 938,000& * 14 938
—EdA H XA 425,000& * 10K 425
—EUHEH 279,000& * 14 279
—3cld RUE 1,306,000& * 14 1,306
ONMR=RE sotsUHal(ZHMANEE LY
10,000& * 1,000 10,000
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A =S (LSS /NLSHE - WEXLH)
Sl KA SBE S GRS
SA - HE - SR(EH) - NRAY - BES 0l &t e DS
02 32244 110,050 116,544 N6,494
OQHUXNIZYR ==& 503 = 25,000 1,250
OMNEAT B2 80& =+ 50,000 4,000
OXNZENMERE =2 50& =+ 50,000 2,500
OCD/ATM JIEER 25 100& * 20,000A 2,000
OXNLAM DXM SEZ(AIMZE) 92,500
—S7 2,000& = 15,000 30,000
— gt 2503 * 250,000 62,500
OXIZA HAD|ID] KSR 5,400
—lsDelly RN 300,000& = 12& 3,600
—JXNAMNSEI =A2=  150,000& » 122 1,800
O H=HAIAEH RXNES
200,000& = 128 2,400
202 (44l 6,300 6,300 0
01 SLHAObI 6,300 6,300 0
OMIERE MEAE L NREE AS0H
70,0008 * 458 » 2« 6,300
203 R =2 3,000 3,000 0
03 Al =& 2= &l 3,000 3,000 0
ON=SUHERFA 3,000,000& » 14l 3,000
204 MR AH| 37,200 38,400 A 1,200
03 EZZRZH 37,200 38,400 1,200
OMRgE3s22 100,000& = 31H = 123 37,200
306 £013 4,000 0 4,000
01 =9z 4,000 0 4,000
OXNZNEHIIS &2HS 4,000,000& * 14 4,000
403 XXM S A= 01 & 27,590 25,800 1,790
02 SJ| 2SO0l CHSHCH & At I 27,590 25,800 1,790
OHEEXNLA2S XA 1,792,660& * 128 21,512
OSENLA2S XA 351,500& = 123 4,218
OSg==EHAIAHE2E X AHl 1550008 » 12& 1,860
AA S0E = 34,881 35,410 A529
101 212 Hl 10,041 9,590 451
04 JI2ZMZ22RSE =+ 10,041 9,590 451
OAIMl BSTtE 34 2 ZALEH| 10,041
—Jl2s 36,6402 » 2% * 110€ * 13 8,061
— =5+ 36,6403 » 2H x 222 + 13] 1,613
—HX0IAIE=E
36,6403 » 2% * 52 « 13| 367
201 2 Br2 2| 24,840 25,820 £.980
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SN NS
Hu: GRS (LNBIHY/ AL - WX L)
Sl XA 2DE S crol e
_ _ pSNE e
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Gl o HRE2
01 AtR2telH 24,840 25,820 A 980
OAlM 2 DXAM = 15,400
~XHSO0IH DA 70,0008l * 402 A 2,800
—HII2 SHDXA(BHAS)
70,000& * 1508t A 10,500
—HII2 SHDIMN(HAA)
70,000& * 302fA 2,100
OFIIZ AN 25 s2s 40
60,000& * 15044 * 53 4,500
OFIIZ XM g7 ST ASE
10,0002 * 202 * 2JH 4 * 53] 2,000
OZFANYMAISIANS BA 2T
70,0008 = 7H * 63 2,940
Mo &= 77,282 75,782 1,500
o & 77,282 75,782 1,500
201 L2 Y| 71,282 69,782 1,500
01 AtR2telH 23,350 23,350 0
OV 2o DXA
70,0008 » 108fA 700
OHEX 2S84 &2 o HHE +YSX
3,000& = 500 1,500
OXZA HMEDXM S 70,0008 1558 A 10,850
OXNSX ST YA BB HUEX
500,0008! * 284 1,000
OHMEAMN 2MBel 822 5,400
-3 60,000& * 1574 63l 5,400
OHEHN LHT2 L BIST X MITDAIS
= 10,000& * 202 » 20 * 62 2,400
OMXIy MBE HX0D ot
60,000& * 50 = 53] 1,500
02 2244 47,932 46,432 1,500
OHEHUDTN LE2H2
2502 * 30,0002 * 43| 30,000
ONSXHHSBYI HDN L& SBER
250 * 6,000 1,500
OHXtSI| E8 =2 1,000& * 1,000 1,000
OPDA S X2 ==H| 131,000& = 128 1,572
OHMLXSHSHATIAIAL X 22|
330,000& = 123 3,960
OHLXBBAHNEE MB0l B2 22
1,750& * 3002 525
OHEX MEHE DM L SXN L& 28
= 1,750 = 50024 875
OZHHBHN++E(BHIBSH LA L)
500,0002! * 33l 1,500
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HH: GEHASS(LNTIHT/ AL - HIXL)

Sl T Fa (2o &2
_ _ pSNE e
SN EB -GS - MBAY - BES 0 & 24 o HRE2
SEEEEE T EECEREEE
=g) 4,000,002 * 1Al 4,000
OMERZ 20 L 2ZHIS
3,000,008 * 14! 3,000
303 L& 6.000 6.000 0
01 &3 6.000 6.000 0
ODHE MM B4 243
5,000,008 * 13l 5,000
ODHE Mo+ I+E4Z
1,000,0002 * 13] 1,000
M4 nE 4 31,262 34,893 £3,611
Nel4e 2 0Ha 4 31,282 34,893 £3,611
101 0121t 5,022 4,79 207
M4 OIZHI2ETS2 4 5,022 4,79 207
ON+LANE X YLBSIN 2 5,022
—Jle3 36,6402 + 12§ * 1102 * 13] 4,031
—ZEaT 36,6408 * 1 + 222 « 13] 807
— R OIANE LY
36,6402 * 1% * 52 * 13l 84
201 YBr2 | 9,760 9,970 A210
01 At 22l 9,760 9,970 A210
OIXM AHH 1002 * 6,0000H 600
ONYYHE 20020 * 1,00004 200
ON2I42 L2DXN 70,0008 * 1008 A 7,000
OMeI+el Mg LrFel o 4o
60,0002 * 702 * 23] 840
OIS RE BT
70,0002 * 8% * 23] 1,120
403 THXISHHI S XHZ 0| H 16,500 20,128 £3,628
02 12 S 0fl CH&HCH & A 23 16,500 20, 128 £3,628
ONQILUAAE ST B4t
1,375,008 * 122 16,500
EELBIEEIN 136,177 134,930 1,247
EELBIE N Y 136, 177 134,930 1,247
101 2121t 27,847 26,600 1,247
VIR EEDIEIEPS 27,847 26,600 1,247
OMEFI2 TARE 27,847
—Je3 36,6402 + 102 * 302 * 23] 21,984
FH49 36,6408 + 10 * 62 * 23] 4,397
— XA g
36,6402 * 102 * 22 * 23] 1,466
201 LBt | 108,330 108,330 0
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& UFTWASS (LS SHY/NLS#HY - HEXH)
Erel W EFEIIAEA G-
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
01 At 2teltl 102,080 102,080 0
ODIZBA BEZEIIA 25448 3,750
— Z= AbHI 50,000& * 10000 S = 1/2 2,500
— =2 25,000& * 1000HsS = 1/2 1,250
OIHgE=eIIA ZALE RO
50,0003 * 258f A 1,250
ONEFEIA M4EEN 22
50,000& * 258fA 1,250
ONEFeIA ZBENES KO
60,000& » 258t A 1,500
OMEFeIt2a A 28 28 310 &%
at 60,000 * 15004 * 33| 2,700
OMEFeIN2 BEEe =a
8,000& = 1,0000H 8,000
Oog=eia s & X7
5,000& » 502 1,750
Og=eIIA 2ZEIAL S =8 77,440
— MmN 2E
48,4004 * 25,0005 * 12% * 1/2 72,600
—SAMEINE HS
48,400 * 5005 * 50% * 30% * 1/2 1,815
_&gjl.pj H=
48,4003 * 2505 * 50% * 1/2 3,025
OMNEFEHINASEIAL T2 0 R E 4|
600,000& * 5copy * 1/2 1,500
ORSUBIISRS BAAL
70,000& = 129 * 73| = 1/2 2,940
02 2224l 6,250 6,250 0
ONgxedtd REZ 2502 = 25,0000H 6,250
M3g= 5,840 5,490 350
g§224 MR A 5,840 5,490 350
201 B2 HH| 800 450 350
01 AR 2teld| 800 450 350
OXNYM MEEZAA 7 2,000& * 400H 800
202 0dl 5,040 5,040 0
01 2L b 5,040 5,040 0
Ol NMSEAL Y AJALZ 0l
70 000 = 3H x 42 * 63l 5,040
HY2AHHI (M) (IIEH/DIE) 148,980 159,812 A 10,832
Jl23dl 148,980 159,812 10,832
Jl23tl 148,980 159,812 A 10,832
201 B2 HH| 27,780 30,772 AN2,992
01 AR 2teld| 27,780 30,772 AN2,992
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SN D
s AAH (MR (OIEHIIE)

&t D=3l (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
O=SAESK 2l 13,000& * 30A « 128 4,680
OS2 A | 5,000& * 641 » 30& » 12& 10,800
Ot =2 100,000& = 12& 1,200
O4LE EM7YYI 50,000& = 128 600
Oxnl2 =4t 8,700
—S A s=el(d) 500,000& * 1.504 750
— el =cl 100,000& = 5CH = 50/100 250
—SAMI EH 200,000& = 53| * 1.504 1,500
—ZeHI| EYH 200,000& = 53| * 504 5,000
—pc==cl 100,000& = 30CH * 20/100 600
—JIEt&dl =2l 50,000& » 12& 600
OJIE At 2t2(HI 5,000& * 30 * 12& 1,800
202 o4 4l 115,800 123,520 AT,720
01 WA 115,800 123,520 ANT,720
OAMS 1 B2 o 115,800
—2HHOHl 20,0003 * 30 * 122 = 128 86,400
— 22/l 70,000& » 30 » 14 29,400
203 P =&l 4,200 4,320 A 120
04 FEN2IHRFLA| 4,200 4,320 A 120
ORAN2IHRF4HI 350,000& = 122 4,200
204 X R=H A H| 1,200 1,200 0
01 M MSHSP=H A 1,200 1,200 0
OXMS LR ;AL (MRE)
100,000& = 1" « 1228 1,200
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